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l i Explain with diagrams different network topologies. j f8l . u"d;;;;J ; ioi i.**_*_r **_ _*"** j*_**_*;_ *,i__ j
| , I 

what are different switching networks ? Elaborate D;tagam i _-_ i r ;i '' iNetrvork. i t8l i Apply i cOz i

i, 
,:_-, ,.rcribe the osl Model with a diagram. i t8] i und.rrturd ; cor i

i 4 iAloHA,whenanetworktransmits200-bitframesonashared i -^- i ; j

; -' 
1 

channel of 200 kbps. Consider that the system (all stations i t8l j Appty 
, CO2 :

- 5. i What is CSMA? Explain different persistence Method. i lgl i Urdo.rurd f COI i

i 
*' 

lchanneloizookbps.Considerthat thesystemlallstations""-"" i I8l j ooo', tco2

Y S. 
i 
** is CSMA? Explain different persistence Method. i Ig1 i Urdo.rurd i COI

j e. i Let the Data word to be sent is 100100, generator polynomial used i .o., i : - - -j "' r bv the sender and receiver is x3 + *'* ilrino rh;;;il;;; i tEl i Applv coz
: i be Senl using CRC. j ' 
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Attempt any 5 lrom question 6 to I I . All carry 6 marks.
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i Understanding

Solve the following using 2's complement method'

r-"**cdvert the foldwing numuers - I t2l i i Co2 t

5. i ru (01A01)6= (--'-)2 i I Applying
(ii) (01501)8= ('--)re: i lr', \v rYY 'ro t- rs !1il

i:i:i.t.s ** ^i 
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i o. , 1-tz1i6a. i {61 i APPlYing
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-;* l-\,r,[iGDiriri"nAtsonthm*ith-prcd;IExa*p6.--- i t0t i appfying iCO4 i
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i g. i rmplementation Algorithm 14 i 5. i i Understanding i ii:llii

;--l-"mit"5iliffi;Atsorithmwiiiiipi 
Example. I t6f I apprying !Co4 i

Multti,ly the *rstsril riu*bers u'idi{ad*ar;*---- -_1- 
i6] 
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i 9. i *ittt trlautt example. i i Applying I i
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-yi*l=::li-ryi::f:[::X Ho*.ieiifcirt";r- l 
-tot 
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10 i and memory staoks execute its operation. i i Understanding : 
iiiiij
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i Understanding i iI I i point signed magnitude with proper example- Ir.-r--_--..r-ll-ii
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i 1. i Describe the working of JVM. How does ;ffiii ltstj i security to Java program? 
i:_ " . :.^_*-."*-..* 

_I-*-.---_

i I 
Write aprograrnto acceptanumberfrom userandpiini -i"* .-

i Z. i the number in reverse order. Also find the sum of alr i

j - 
i aigit, in the number. 

i"v s$r" vt er' i t8I
i -i
i-- - "-. .'j'.-.-'----*"* ij r Describe constructor? Write apiogram to affi;nstr;re til i** -
i 3. ; '- -e--'---

i lconceptofconstructoroverloading. i fgt
i

i 4. , Describe the wrapper ctasiei wii[iliirbi;;irrti;. i r*ri 't. i r.rsltuttutr tll9 WraPPgf ClaSSeS WltI
il

! : Short notes on

aruprs. i tg]

col

.,.. . .,..i." ........j

co2 i

"**___,t


